R kR&¥F (110# 01 2 13 P)

110.01.13

A AT - BE

HE (M)

1,436.44

(=170

100 %

EE (M)

1,557 s

- BHM B

&t

97 %

3%

48.99

RHMEI R

=H

H 110.01.01 Z51 % 110.01.13

- REfaI B

i - B5
BE (M)

15,745.c4

A
ith

97 %

BE (M)

17,073.s:

il

A
BE(H)

£t

ikt
97 %
3%

422 s

FEEMTIRARI*

3%
BE (M)
#E

490.::

BT

AR  SEREFECRAPIPHLFNARBREEIRETF BT 2 RER T
BvoE LSS AT *"?w‘%e%#ﬂ*glﬂ'% CERRRELR ERESID R
Pﬁg’gif“r}\)\wp\? B2 BT f‘]i FEAF N R f‘_ﬁ_ s ¥ %%Kfi’_’ T
T KR

e WAREEFTHY e LR ¢S AR

e EBUHEE T MR R K

e RBURKRINELFTILT I FALAETNS RE, PR R K

b
e EE0H

G 3R o
e E ‘F"JJI“"F&H’}%‘ bt
T MR R



